Ch. A. Charalambides

University of Athens, Panepistemiopolis, 15784 Athens, Greece (Submitted September 1989)

1. Introduction

The Lucas numbers L_n , $n = 0, 1, 2, \ldots$, may be defined by

$$L_n = L_{n-1} + L_{n-2}, n = 2, 3, \dots, L_0 = 2, L_1 = 1.$$

Among several combinatorial interpretations of the Lucas numbers in terms of permutations, combinations, compositions (ordered partitions), and distributions of objects into cells, the most commonly used as an alternative combinatorial definition of them is the following: The n^{th} Lucas number L_n , $n = 2, 3, \ldots$, is the number of combinations of n consecutive integers $\{1, 2, 3, \ldots, n\}$ placed on a circle (so that n and 1 are consecutive) with no two integers consecutive. Since

$$L(n, r, 2) = \frac{n}{n-r} \binom{n-r}{r}, r = 0, 1, 2, \dots, [n/2], n = 2, 3, \dots,$$

where [x] denotes the integral part of x, is the number of r-combinations of the n consecutive integers $\{1, 2, \ldots, n\}$, placed on a circle, with no two integers consecutive, it is clear that

$$L_n = \sum_{r=0}^{\lfloor n/2 \rfloor} \frac{n}{n-r} \binom{n-r}{r}, n = 1, 2, \dots$$

The polynomials

290

$$g_n(x) = \sum_{r=0}^{\lfloor n/2 \rfloor} \frac{n}{n-r} \binom{n-r}{r} x^{n-2r}, \ n = 1, 2, \ldots,$$

may be called Lucas polynomials. It is worth noting that these polynomials are related to the Chebyshev polynomials,

 $T_n(x) = \cos(n\theta), \cos \theta = x,$

by $g_n(x) = 2i^{-n}T_n(ix/2)$, $i = \sqrt{-1}$. Riordan [8] considered the polynomials $h_n(x) = i^{-n}g_n(ix)$, $n = 1, 2, \ldots$, and the Lucas-type polynomials

$$L_n(x) = \sum_{r=0}^{\lfloor n/2 \rfloor} \frac{n}{n-r} \binom{n-r}{r} x^{n-r} = x^{n/2} g'(x^{1/2}), n = 1, 2, \dots,$$

in a derivation of Chebyshev-type pairs of inverse relations.

The present paper is motivated by the problem of expressing the distribution function of the length of the longest run of successes in a circular sequence of n independent Bernoulli trials (Philippou & Marki [7]) and the reliability of a circular consecutive k-out-of-n failure system (Derman, Liebermann, & Ross [1]). An elegant solution to this problem is provided by the n^{th} Lucas-type polynomial of order k. This polynomial and the n^{th} Lucas number of order k, as a particular case of it, are examined in Section 2. As probabilistic applications, the above posed problems are discussed in Section 3.

[Nov.

2. Lucas Numbers and Polynomials of order K

Let L(n, r, k) be the number of *r*-combinations of the *n* consecutive integers $\{1, 2, \ldots, n\}$ displaced on a circle, with no k integers consecutive. Moser & Abramson [3], essentially showed that

$$(2.1)$$

$$L(n, r, k) = \begin{cases} \binom{n}{r}, r = 0, 1, 2, \dots, n, n = 0, 1, 2, \dots, k - 1, k = 2, 3, \dots \\ \sum_{j=0}^{\lfloor n/k \rfloor} (-1)^{j} \binom{n-r}{j} \frac{n}{n-jk} \binom{n-jk}{n-r}, r = 0, 1, 2, \dots, \lfloor n-n/k \rfloor, \\ n = k, k+1, \dots, k = 2, 3, \dots \end{cases}$$

$$(0, r > \lfloor n-n/k \rfloor, n = k, k+1, \dots, k = 2, 3, \dots \end{cases}$$

where [x] denotes the integral part of x. As it can be easily shown, these numbers satisfy the recurrence relation

$$(2.2) \\ L(n, r, k) = \begin{cases} \sum_{j=1}^{r+1} L(n - j, r - j + 1, k), r = 0, 1, 2, \dots, n - 1, \\ n = 1, 2, \dots, k, k = 2, 3, \dots \end{cases}$$

$$\min\{r+1, k\} \\ \sum_{j=1}^{r+1} L(n - j, r - j + 1, k), r = 0, 1, 2, \dots, [n - n/k], \\ n = k + 1, k + 2, \dots, k = 2, 3, \dots \end{cases}$$

The sum
$$k = 2, 3, \dots$$

(2.3)
$$L_{n,k} = \sum_{r=0}^{\lfloor n-n/k \rfloor} L(n, r, k), n = 1, 2, \dots, k = 2, 3, \dots,$$

for $n = k, k + 1, \ldots$, is the number of combinations of the *n* consecutive integers $\{1, 2, \ldots, n\}$ displaced on a circle, with no k integers consecutive. This number, which for k = 2 reduces to $L_{n,2} = L_n$, the n^{th} Lucas number, may be called the n^{th} Lucas number of order k.

The polynomial

¢ /

(2.4)
$$L_{n,k}(x) = \sum_{r=0}^{\lfloor n-n/k \rfloor} L(n, r, k) x^{n-r}, n = 1, 2, \dots, k = 2, 3, \dots$$

may be called the n^{th} Lucas-type polynomial of order k. Clearly,

 $L_{n,k}(1) = L_{n,k}$.

Recurrence relations, generating functions, and alternative algebraic expressions of these numbers and polynomials and also their connection with the corresponding Fibonacci numbers and polynomials are presented in the following theorems and corollaries.

Theorem 2.1: The sequence $L_{n,k}(x)$, $n = 1, 2, \ldots$, of Lucas-type polynomials of order k satisfies the recurrence relation

$$(2.5) \\ L_{n, k}(x) = \begin{cases} x \left\{ n + \sum_{j=1}^{n-1} L_{n-j, k}(x) \right\}, n = 2, 3, \dots, k, k = 2, 3, \dots \\ x \sum_{j=1}^{k} L_{n-j, k}(x), n = k + 1, k + 2, \dots, k = 2, 3, \dots \end{cases}$$

~

with $L_{1,k}(x) = x$.

Proof: From (2.4), on using the recurrence relation (2.2), it follows that: (a) for $n = 1, 2, \ldots, k$,

1991]

291

$$\begin{split} L_{n,k}(x) &= \sum_{r=0}^{n-1} L(n, r, k) x^{n-r} = \sum_{r=0}^{n-1} \sum_{j=1}^{r+1} L(n-j, r-j+1, k) x^{n-r} \\ &= x \sum_{j=1}^{n} \sum_{r=j-1}^{n-1} L(n-j, r-j+1, k) x^{n-r-1} \\ &= x \left\{ n + \sum_{j=1}^{n-1} \sum_{r=j}^{n-1} L(n-j, r-j+1, k) x^{n-r-1} \right\} \\ &= x \left\{ n + \sum_{j=1}^{n-1} L_{n-j,k}(x) \right\}; \end{split}$$

(b) for $n = k + 1, k + 2, \ldots$,

$$L_{n, k}(x) = \sum_{r=0}^{[n-n/k]} L(n, r, k) x^{n-r}$$

= $\sum_{r=0}^{[n-n/k]} \sum_{j=1}^{\min\{r+1, k\}} L(n-j, r-j+1, k) x^{n-r}$
= $x \sum_{j=1}^{k} \sum_{r=j-1}^{[n-n/k]} L(n-j, r-j+1, k) x^{n-k-1}$
= $x \sum_{j=1}^{k} L_{n-j, k}(x)$;

and for n = 1,

 $L_{1,k}(x) = L(1, 0, k)x = x.$

Remark 2.1: The n^{th} Lucas-type polynomial of order k, for $n = 2, 3, \ldots, k$, by virtue of (2.1) and (2.4) may be obtained as

(2.6)
$$L_{n,k}(x) = \sum_{r=0}^{n-1} {n \choose r} x^{n-r} = (1+x)^{n-1}.$$

Also, from (2.5), for n = k + 1, k + 2, ..., it follows that (2.7) $L_{n, k}(x) = (1 + x)L_{n-1, k}(x) - xL_{n-k-1, k}(x)$.

Corollary 2.1: The sequence $L_{n, k}$, n = 1, 2, ..., of the Lucas numbers of order k satisfies the recurrence relation

$$(2.8) \qquad \qquad L_{n,k} = \begin{cases} n + \sum_{j=1}^{n-1} L_{n-j,k}, & n = 2, 3, \dots, k, k = 2, 3, \dots \\ \sum_{j=1}^{k} L_{n-j,k}, & n = k+1, k+2, \dots, k+2, 3, \dots, \end{cases}$$

with $L_{1, k} = 1$.

Theorem 2.2: The generating function of the sequence of Lucas-type polynomials of order k, $L_{n, k}(x)$, $n = 1, 2, \ldots$, is given by

(2.9)
$$L_k(t; x) = \sum_{n=1}^{\infty} L_{n,k}(x) t^n = \left(x \sum_{j=1}^k j t^j\right) \left(1 - x \sum_{j=1}^k t^j\right)^{-1}$$

Proof: Multiplying the recurrence relation (2.5) by t^n and summing for n = 1, 2, ..., we find

292

[Nov.

$$\begin{split} L_{k}(t; x) &= \sum_{n=1}^{\infty} L_{n, k}(x) t^{n} = xt + \sum_{n=2}^{k} L_{n, k}(x) t^{n} + \sum_{n=k+1}^{\infty} L_{n, k}(x) t^{n} \\ &= x \sum_{j=1}^{k} j t^{j} + x \sum_{n=2}^{k} \sum_{j=1}^{n-1} L_{n-j, k}(x) t^{n} + x \sum_{n=k+1}^{\infty} \sum_{j=1}^{k} L_{n-j, k}(x) t^{n} \\ &= x \sum_{j=1}^{k} j t^{j} + x \sum_{j=1}^{k-1} \sum_{n=j+1}^{k} L_{n-j, k}(x) t^{n} + x \sum_{j=1}^{k} \sum_{n=k+1}^{\infty} L_{n-j, k}(x) t^{n} \\ &= x \sum_{j=1}^{k} j t^{j} + x \sum_{j=1}^{k} t^{j} \sum_{n=j+1}^{\infty} L_{n-j, k}(x) t^{n-j} \\ &= x \sum_{j=1}^{k} j t^{j} + x L_{k}(t; x) \sum_{j=1}^{k} t^{j}, \end{split}$$

from which (2.9) follows.

Corollary 2.2: The generating function of the sequence of Lucas numbers of order k, $L_{n, k}$, n = 1, 2, ..., is given by

$$(2.10) \quad L_k(t) = \sum_{n=1}^{\infty} L_{n,k} t^n = \left(\sum_{j=1}^{k} j t^j\right) \left(1 - \sum_{j=1}^{k} t^j\right)^{-1}.$$

Theorem 2.3: The n^{th} Lucas-type polynomial of order k may be expressed as

$$(2.11) \quad (a) \quad L_{n,k}(x) = -1 + \sum_{j=0}^{\lfloor n/(k+1) \rfloor} (-1)^j \frac{n}{n-jk} \binom{n-jk}{j} x^j (1+x)^{n-j(k+1)}$$

(2.12) (b)
$$L_{n,k}(x) = \sum \frac{r_1 + 2r_2 + \dots + kr_k}{r_1 + r_2 + \dots + r_k} \frac{(r_1 + r_2 + \dots + r_k)!}{r_1!r_2! \dots r_k!} x^{r_1 + r_2 + \dots + r_k}$$

where the summation is extended over all partitions of n with no part greater than k, that is over all $r_i = 0, 1, 2, \ldots, n, i = 1, 2, \ldots, k$ such that

 $r_1 + 2r_2 + \cdots + kr_k = n.$

Proof: The generating function (2.9) may be expanded into powers of t as

$$\begin{split} L_{k}(t; x) &= -t \frac{d}{dt} \log \left\{ 1 - x \sum_{j=1}^{k} t^{j} \right\} \\ &= -t \frac{d}{dt} \log \{ [1 - (1 + x)t + xt^{k+1}](1 - t)^{-1} \} \\ &= -t(1 - t)^{-1} - t \frac{d}{dt} \log [1 - (1 + x)t + xt^{k+1}] \\ &= -\sum_{n=1}^{\infty} t^{n} + t \frac{d}{dt} \sum_{r=1}^{\infty} [(1 + x)t - xt^{k+1}]^{r}/r \\ &= -\sum_{n=1}^{\infty} t^{n} + t \frac{d}{dt} \sum_{r=1}^{\infty} [(1 + x)t - xt^{k+1}]^{r}/r \\ &= -\sum_{n=1}^{\infty} t^{n} + t \frac{d}{dt} \sum_{r=1}^{\infty} \sum_{j=0}^{r} (-1)^{j} \frac{1}{r} {n \choose j} x^{j} (1 + x)^{r-j} t^{r+jk} \\ &= -\sum_{n=1}^{\infty} t^{n} + \sum_{r=1}^{\infty} \sum_{j=0}^{r} (-1)^{j} \frac{r+jk}{r} {n \choose j} x^{j} (1 + x)^{r-j} t^{r+jk} \\ &= -\sum_{n=1}^{\infty} t^{n} + \sum_{n=1}^{\infty} \sum_{j=1}^{[n/(k+1)]} (-1)^{j} \frac{n}{n-jk} {n \choose j} x^{j} (1 + x)^{n-j(k+1)} t^{n} \end{split}$$

yielding (2.11).

1991]

293

A different expansion of (2.9) as

$$L_{k}(t; x) = -t \frac{d}{dt} \log \left(1 - x \sum_{j=1}^{k} t^{j} \right) = t \frac{d}{dt} \sum_{n=1}^{\infty} \left(x \sum_{j=1}^{k} t^{j} \right)^{n} / r$$

$$= t \frac{d}{dt} \sum_{r=1}^{\infty} \sum \frac{(r-1)!}{r_{1}!r_{2}! \cdots r_{k}!} x^{r_{1}+r_{2}+\cdots+r_{k}} t^{r_{1}+2r_{2}+\cdots+kr_{k}}$$

$$= \sum_{r=1}^{\infty} \sum \frac{(r_{1}+2r_{2}+\cdots+kr_{k})(r-1)!}{r_{1}!r_{2}! \cdots r_{k}!} x^{r_{1}+r_{2}+\cdots+r_{k}} t^{r_{1}+2r_{2}+\cdots+kr_{k}} t^{r_{1}+2r_{2}+\cdots+kr_{k}}$$

where in the inner sums the summation is extended over all $p = 0, 1, 2, \ldots$, r, i = 1, 2, ..., k, such that $r_1 + r_2 + \cdots + r_k = r$, on putting

$$n = p - \sum_{j=1}^{n} (j -$$

yields

$$L_{k}(t; x) = \sum_{n=1}^{\infty} \left\{ \sum \frac{r_{1} + 2r_{2} + \dots + kr_{k}}{r_{1} + r_{2} + \dots + r_{k}} \frac{(r_{1} + r_{2} + \dots + r_{k})!}{r_{1}!r_{2}! \dots r_{k}!} x^{r_{1} + r_{2} + \dots + r_{k}} \right\} t^{n}$$

where in the inner sum the summation is extended over all $p_i = 0, 1, 2, ..., n$, $i = 1, 2, \ldots, k$, such that $r_1 + 2r_2 + \cdots + kr_k = n$. The last expression implies (2.12).

Corollary 2.3: The n^{th} Lucas number of order k may be expressed as

 $1)r_{j}$

(2.13) (a)
$$L_{n,k} = -1 + \sum_{j=0}^{\lfloor n/(k+1) \rfloor} (-1) \frac{n}{n-jk} {n-jk \choose j} 2^{n-j(k+1)},$$

(2.14) (b)
$$L_{n,k} = \sum \frac{r_1 + 2r_2 + \dots + kr_k}{r_1 + r_2 + \dots + r_k} \frac{(r_1 + r_2 + \dots + r_k)!}{r_1!r_2! \dots r_k!}$$

where the summation is extended over all $r_i = 0, 1, 2, \ldots, n$ such that

 $r_1 + 2r_2 + \cdots + kr_k = n$.

Remark 2.2: A known expression for the n^{th} Lucas number L_n and two expressions for the n^{th} Lucas number of order 3, $H_n \equiv L_{n,3}$, may be deduced from the general expression (2.14). Setting k = 2 and introducing the variable $r = r_2$, it follows that [10/2]

$$L_{n} = \sum_{r=0}^{\lfloor n/2 \rfloor} \frac{n}{n-r} \binom{n-r}{r}.$$

Putting k = 3 and introducing the variables $r = r_2$, $j = r_3$, (2.14) reduces to

(2.15)
$$H_n = \sum_{p=0}^{\lfloor n/2 \rfloor} \sum_{j=0}^{\lfloor (n-2r)/3 \rfloor} \frac{n}{n-r-2j} \binom{n-r-2j}{r+j} \binom{r+j}{r}$$

while, introducing the variables $r = r_2 + 2r_3$, $j = r_3$, (2.20) becomes

(2.16)
$$H_n = \sum_{r=0}^{\lfloor 2n/3 \rfloor} \sum_{j=0}^{\lfloor r/3 \rfloor} \frac{n}{n-r} \binom{n-r}{j} \binom{n-r-j}{r-2j}.$$

The Lucas numbers L_n are related to Fibonacci numbers F_n by

 $L_n = F_n + 2F_{n-1} = F_{n+1} + F_{n-1}.$

An extension of this relation to the Lucas-type polynomials and the Fibonaccitype polynomials (see [6]) is obtained in the following theorem. 294 Nov.

Theorem 2.4: The Lucas-type polynomials of order k, $L_{n,k}(x)$, n = 1, 2, ..., areexpressed in terms of the Fibonacci-type polynomials of order k, $F_{n,k}(x)$, $n = 1, 2, \ldots, by$

(2.17)
$$L_{n,k}(x) = x \sum_{j=1}^{\min\{n, k\}} jF_{n-j+1,k}(x), n = 1, 2, \dots, k = 2, 3, \dots$$

Proof: Since (see [6])

$$\sum_{n=0}^{\infty} F_{n+1,k}(x) t^{n} = \left(1 - x \sum_{j=1}^{k} t^{j}\right)^{-1},$$

it follows from (2.9) that

$$\sum_{n=1}^{\infty} L_{n,k}(x) t^{n} = x \left(\sum_{j=1}^{k} j t^{j} \right) \left(\sum_{r=0}^{\infty} F_{r+1,k}(x) t^{r} \right)$$
$$= \sum_{n=1}^{\infty} \left\{ x \sum_{j=1}^{\min\{n,k\}} j F_{n-j+1,k}(x) \right\} t^{n},$$

which implies (2.17).

Corollary 2.4: The Lucas numbers of order k are expressed in terms of the Fibonacci numbers of order k by

(2.18)
$$L_{n,k} = \sum_{j=1}^{\min\{n,k\}} jF_{n-j+1,k}, n = 1, 2, \dots, k = 2, 3, \dots$$

Remark 2.3: The polynomial

$$(2.19) \quad g_{n,k}(x) = \sum_{r=0}^{\lfloor n-n/k \rfloor} L(n, r, k) x^{(n-r)k-n}, n = 1, 2, \ldots, k = 2, 3, \ldots,$$

may be called the n^{th} Lucas polynomial of order k. It is related to the Lucastype polynomial (2.4) by

$$(2.20) \quad g_{n,k}(x) = x^{-n}L_{n,k}(x^k), \ n = 1, \ 2, \ \dots, \ k = 2, \ 3, \ \dots$$

Expressions for these polynomials, analogous to (2.5), (2.9), (2.11) and (2.12), on using (2.20), may easily be deduced. Further,

$$(2.21) \quad g_{n,k}(x) = \sum_{j=1}^{\min\{n,k\}} jx^{k-j+1}f_{n-j+1,k}(x), n = 1, 2, \dots, k = 2, 3, \dots,$$

where $f_{n,k}(x)$ is the n^{th} Fibonacci polynomial of order k (see [5] and [2] as kbonacci polynomial). This relation may be deduced from (2.17) by virtue of (2.20) and [4],

$$f_{n,k}(x) = x^{-n+1}F_{n,k}(x^k).$$

3. Probabilistic Applications

Consider a circular sequence of n independent Bernoulli trials with constant success probability p and let q = 1 - p. Further, let C_n be the length of the longest circular run of successes and let S_n be the total number of successes. In Theorem 3.1, the conditional distribution function of C_n , given $S_n = r$, $P(C_n \le x/S_n = r)$, $-\infty < x < \infty$, is obtained in terms of the numbers L(n, r, [x] + 1) and the distribution function of C_n , $P(C_n \le x)$, $-\infty < x < \infty$, is expressed in terms of the Lucas-type polynomials of order [x] + 1. 1991]

295

Theorem 3.1: Let C_n and S_n be the length of the longest run of successes and total number of successes, respectively, in a circular sequence of n independent Bernoulli trials with constant success probability p. Then,

(3.1)
$$P(C_n \leq x/S_n = r) = \begin{cases} 0 \\ L(n, r, k+1)/\binom{n}{r}, & 0 \leq x < r \leq n, \ k = [x] \\ 1, & r \leq x < \infty, \ r \leq n. \end{cases}$$

(3.2)
$$P(C_n \le x) = \begin{cases} 0, & -\infty < x < 0 \\ p^n L_{n, k+1}(q/p), & 0 \le x < n \\ 1, & n \le x < \infty. \end{cases}$$

1

ſ

1.

Proof: The elements of the sample space are combinations $\{i_1, i_2, \ldots\}$ of the *n* consecutive integers $\{1, 2, \ldots, n\}$ displaced on a circle where i_m is the position of the *m*th success, $m = 1, 2, \ldots$. The event $\{C_n \leq x, S_n = r\}$ contains all the *r*-combinations of the *n* integers $\{1, 2, \ldots, n\}$ displaced on a circle, with no k + 1 = [x] + 1 integers consecutive. Clearly, the number of these *r*-combinations is given by L(n, r, k + 1). Further, each of these *r*-combinations has probability p^rq^{n-r} . Hence,

 $(3.3) \quad P(C_n \le x, S_n = r) = L(n, r, k+1)p^r q^{n-r}, k = [x],$

and since

$$P(S_n = r) = \binom{n}{r} p^r q^{n-r}, r = 0, 1, 2, \dots, n,$$

(3.1) follows.

Summing the probabilities (3.3) for $r = 0, 1, 2, \ldots, [n - n/(k + 1)]$, on using (2.4), (3.2) is deduced.

Since $P(C_n = k) = P(C_n \le k) - P(C_n \le k - 1)$, $k = 0, 1, 2, \ldots$, on using (3.1), the next corollary is deduced.

Corollary 3.1: The probability function of the random variable C is given by

(3.4)
$$P(C_n = k) = \begin{cases} q^n, \ k = 0 \\ p^n, \ k = n \\ p^n \{L_n, k+1(q/p) - L_n, k(q/p)\}, \ k = 1, 2, \dots, n-1. \end{cases}$$

Remark 3.1: A circular consecutive-k-out-of-n: F system is a system of n components displaced on a circle which fails when k consecutive components fail. Suppose that the probability for each component to function is p and to fail is q = 1 - p. Derman, Lieberman, and Ross (see [1]) expressed its reliability $R_c(p, n, k)$ as

$$R_{c}(p, k, n) = p^{2} \sum_{j=1}^{k} jq^{j-1}R_{L}(p, k, n-j-1),$$

where $R_L(p, k, n)$ denotes the reliability of a linear consecutive-k-out-of-n: F system.

Interpreting as a "success" the failure of a component, the reliability $R_c(p, k, n)$ is the probability that the length C_n of the longest circular run of successes in a circular sequence of n independent Bernoulli trials with constant success probability 1 is less than or equal to k. It is then clear from Theorem 3.1 that

[Nov.

(3.5)
$$R_c(p, k, n) = q^n L_{n,k}(p/q) = \sum_{j=0}^{\lfloor n/(k+1) \rfloor} (-1)^j \frac{n}{n-jk} {\binom{n-j}{j}} p^j q^{jk} - q^n$$

with the last equality by (2.11).

References

- C. Derman, G. J. Lieberman, & S. M. Ross. "On the Consecutive-k-out-of-n: F System." IEEE Transactions on Reliability R-31.1 (1982):57-63.
- V. E. Hoggatt & M. Bicknell. "Generalized Fibonacci Polynomials." Fibonacci Quarterly 11 (1973):457-65.
- 3. W. O. J. Moser & M. Abramson. "Enumeration of Combinations with Restricted Differences and Cospan." J. Combin. Theory 7 (1969):162-70.
- 4. A. N. Philippou. "Distributions and Fibonacci Polynomials of Order k, Longest Runs and Reliability of Consecutive-k-out-of-n: F Systems." Fibonacci Numbers and Their Applications, pp. 203-27. Ed. A. N. Philippou et al. Dordrecht: Reidel, 1986.
- A. N. Philippou, C. Georghiou, & G. N. Philippou. "Fibonacci Polynomials of Order k, Multinomial Expansions and Probability." Internat. J. Math. and Math. Sci. 6.3 (1983):545-50.
- 6. A. N. Philippou, C. Georgiou, & G. N. Philippou. "Fibonacci-Type Polynomials of Order k with Probability Applications." Fibonacci Quarterly 23.2 (1985):100-05.
- A. N. Philippou & F. S. Makri. "Longest Circular Runs with an Application in Reliability via Fibonacci-Type Polynomials of Order k." Applications of Fibonacci Numbers, pp. 281-86. Ed. G. E. Bergum et al. Kluwer: Academic Publishers, 1990.
- 8. J. Riordan. Combinatorial Identities. New York: Wiley, 1968.
